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Math Domain

��Number/Quantity��Shape/Space�(�Function/Pattern������������Chance/Data��Arrangement����Math Actions (possible weights: 0 through 4)

�0�Modeling/Formulating�2�Manipulating/Transforming���������2�Inferring/Drawing Conclusions�2�Communicating��Math Big Ideas

��Scale��Reference Frame��Representation������������Continuity��Boundedness��Invariance/Symmetry�����������(�Equivalence��General/Particular��Contradiction������������Use of Limits��Approximation��Other����������The original equation t2 = t�EMBED Equation.3��� had two solutions (t = 0 and t = �EMBED Equation.3���), but dividing both sides of the equation by t eliminated one of these solutions (t = 0), leaving the equation t = �EMBED Equation.3��� which has only one solution (t = �EMBED Equation.3���).

Graphically, the equation t2 = t�EMBED Equation.3��� can be represented by a parabola y = t2 and a line y = t�EMBED Equation.3���, which intersect at two points: (0, 0) and (�EMBED Equation.3���, 2). On the other hand, the equation t = �EMBED Equation.3��� is represented by a linear function y = t and a constant function y = �EMBED Equation.3���, which intersect only at a single point: (�EMBED Equation.3���, �EMBED Equation.3���).
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